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(13) ¥ f(x) BESXFER EREERL, B () E[0,+0) ERBMEBEL. ¥ fCm-1)> f(m), WLHm B
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(14) FeBBWH] “Ha, b, cRERELRH, mu::z>§-” REEGEN—A%E%a, b, cMEKKA

s & A PR, BN A*B= C(4)-C(B),C(4)=C(B)
(15) FIC() BnARE A PTRONEL BXA*B=10 5 00 c(ay<c8)’
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TmesRy =R, BAA={x|x=5Fx<1}, B={x|d<x<&+6}.
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2x+2,-1<x<0 .
D xX) = ? 4 4
UL S {—x+2,0$x£2 kacrl
D FEAERH N
-1<x<0 % 0<x<2 (8 41
2x+2>x  |-x+22>x?
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UL EARERRER[L - V3, 1] [14 4]
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(1) v —x?— pr+q>0MIMBEN {x|-1<x<3},
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.{—1+3=—p,’ (4]
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fR: (1) Hix-120, AR F(x) B9 LIRHA (o0, 1) U (1, +0) . [24r]
B (=00, 1) U (1, +00) T~RTF 5 2635, [4 4]
FiTCAER L f (x) NRAAHRYE, B f(x) 2AEaFIERREL. [6 4]
(1D EH: Vx,x, €(1+v2,40), x <x,., (841
x*+1 2
$f(X)— 1 —x+1+x—_T.
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)= f () = (3 = 3)| 1-——— | <0. 13 41

FTEA f(x) - (%) =(x xz)[l (xl_l)(xz_l)Jw [13 4

B £ () > £(x,) OREI &% £ (x) ZERK 1] (1, +o0) 2RI, [14 4]
20. (AR 1543

(1 (200-x)x[3x(1+0.04x) |2 200%3 [3 4]

i 0<x <175, (54

(Il)f(x)=(200—x)><[3x(l+0.04x)]+3[a—§—;)-x—600,(0Sx$175), [74]

=-0.3x" +3(a+7)x (9 4]
st =2(a+7)>0 (11 5]
40<q<280, f(x),m=f(5a+35)=-123(a+7)2; [13 4]
¥a>28 84, f(x)m,x=f(175)=525(a—ﬂ)=
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(1) my=2; ny=4. [4 4]

() APk 0<ag <a,<a, <a,.

! 1
Ei"]j'EI-Z—SA:-2~(a,+a2+a3+a4)<a2+a4<a3+a4<SA,F)ﬂy.a2+a4,as+a47ﬁg~ggsﬁgsr
ARG, /) BBH0,2), 1L,3) (1,4, (2,3): (2,4), (3,4)NFFmR,

M (2,4), G,4)PFHEHER, rtln,<6-2=4.
W 4={,5711}8, n,=4, Fibln, I K{ERS. [94+1
(I Ri#0<a=a,<a,<a;<a,.
g1 (10D AT, %n, BRI AR, o, +a,, a,+ay, a+a,, a,+a, HREHIES,.
ﬁ%%SASmax{a,+a4,az+a,}<SA, ?&-;—S,,=max{a,+a4,ai+a3},
Fibla +a,=a,+a,.
Wu=a+a,, v=a+a, Wu, v£S,=2a,+a,)=2(u+v-2a) KK,
Frlv 2 2(u - 2a,) MIK%, Huk2(v-2a) KEH.
BAu<v, Fibl2u—-2a)<2u<2v, FAvRE2u-2a)EE, FLlv=2u—4q,.
B u s 2(v—2a,) = 4u —12a, FIEEL BTk 2124, (RI%L.
Khu<v=2u—4a, Fibhu>4da, Fihu=6a =6a, Bu=12a =12a.
¥ A={a,,5a,7a,11a}, FA={a,11a,194,29a} .

FLLn, AR KA AR, A ={a,5a,7a,11a}» RA={a]11a,194,29a}. [144}]
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